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91399 Demonstrate understanding of the efficiency 

of market equilibrium
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Credits: Four

Achievement Achievement with Merit Achievement with Excellence

Demonstrate understanding of the 
efficiency of market equilibrium.

Demonstrate in-depth understanding of 
the efficiency of market equilibrium.

Demonstrate comprehensive 
understanding of the efficiency of 
market equilibrium.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–10 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.
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No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.























Comments for Exemplars  91399 

Merit    Total Score:   17 

Q Grade Score Annotation 
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M6 

The response has been awarded M6  because: 

-­‐ the concept of market forces has been explained with correct use of 
the terms surplus, quantity supplied and quantity demanded. There are 
also correct references to Graph One and reference to the new 
equilibrium 

-­‐ the producer surplus explanation in (b) (ii) refers to a lower price 
received and a lower quantity sold and includes correct graph and 
table references. 
 

To gain an E7 grade or better would require a correct off-setting explanation, 
which includes a graph or table reference, when explaining the loss of 
allocative efficiency (Loss of PS is not fully offset by gain in CS).  
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M6 

The response has been awarded M5  because: 

-­‐ the consumer surplus explanation in (a)(ii) refers to consumers paying 
less and buying more, plus correct table and graph references 

-­‐ the producer surplus explanation in (a)(ii) refers to producers receiving 
a lower price and selling a lower quantity 

-­‐ the gain in allocative efficiency explanation correctly uses the off-
setting idea (increase in CS greater than loss of PS and tax revenue) 
and refers to Table 2.  

-­‐ In (c), the response compares the change in quantity demanded when 
explaining why CS increases by more for elastic goods. There are also 
correct graph and table references. 

To gain a E7 grade or better would require the idea that the Government has 
less to spend elsewhere and reference to quantity supplied when comparing 
the change in PS in (c).  
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M5 

The response has been awarded M5 because: 

-­‐ there are at least 4 correct labels and shadings 
-­‐ correct references to changes in price and quantity are used when 

explaining the changes in consumer and producer surpluses.  
 

To gain an E7 grade or better would require the correct use of the off-setting 
idea when explaining the loss of allocative efficiency for either the indirect tax 
or the quota. 

 

  


